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I BAZTE 48 TA=X ES
Rl ZAlsE &4 2 2 EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZEYUZ SAEUE
300, 0002 « 18 23] 10,800
OS+AdBHAHIES 450,000+ 188 8,100
O=X&Yg HM2Ae=E 15,000
201 2= 134,564 149,8%4 215,330
01 At22t2ltl 82,108 9%, 108 214,000
Ox3tdRdY 5 EXAU= 18,000
OYRE =) Uoz
67,0002 x 128 *2[H 1,608
OJrz2=X2el FHIYIHZ40], DAY
it S) S 600,000 *352 21,000
OXZ=20F =A7E S 1,500
OJtz=, =AU, 2 22| 40,000
2 35234l 52,456 53,786 1,330
OJtZ2=A 22ies 26,106
=23 133,000 %27 ) 2+6E 21,546
-HIIes 19,0003 x2004 2% 123 4,560
OXSItA (3H2) 50,0002 *3CH*13 150
OXNSAt SEHA 50,0002 *3CH*23] 300
OXtg = A2/l 4,700,000 *3CH 14,100
OsExtg UHsitEEa
600,000 *3CH 1,800
OADIEIE(=HFEH) 242 5,000
Ostet=Al 2elddl | 2l 5,000
-SEE S 63 200,0002 252 5,000
203 =4l 900 900
03 A=A H R FZ| 900 900
OEAl=st R 1,000,000 *90% 900
206 M=Hl 60,000 60,000
01 MHZHI 60,000 60,000
OZ&AE & =37 60,000
307 elztol & 1,000 1,000
06 2= 1,000 1,000
OJte=Al oty MYLPE WIRE3
100,000& * 1024 1,000
401 Al HIZ R 0HHI 950,000 675,000 275,000
01 AlZ8| 950,000 675,000 275,000
ONMSIEZ Jt2= A0 EH 200,000
OSUZ Itz Al ZHI(F2UZA0IA) 150,000
Odte=Al B2 100,000
Otz gy 100,000
Otz 8y 80,000
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OJtz= 24 20,000
OF=F24= Xel 20,000
OEs=s & i 4B 5,000
405 AHaHE = 2,500 2,500
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OsX & 22 22 =23 2,500
CAIST 2L 3 (HEAIL) 24,534 23,933 601
Al 15,557
- 8,977
101 212A4H| 24,534 23,933 601
Al 16,557
- 8,977
M ORINZZ2NSE S 24,534 23,933 601
Oz AIsX2el# (1) 23,934
Al 15,557
- 8,377
OEEAUZ, SNZUE
300,000 *23] 600
orMG) S Ao SRSt 2d K 2el 1,006,947 839,589 167,358
= 44,001
Al 30,801
- 932,145
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= 44,001
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- 932,145
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86,3033 x 11 240! 227,840
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RA B - SRA(E) - MIRA - BES ofl &4 G o HIDEY
- EIIRYBEE
227,840,000 +3. 545%+12.81% 1,035
-SXXEQIE 300,000& *11H 3,300
-S=dZZ 8| 450,0003+ 11 4,950
-HEA0= 300,000 *11H 3,300
Ogzatae] JI2HHl 222+ 49,265
-QIAH|(=, Xt F2 ZL8&)
86,3033 x2H 240! 41,426
=002 E 41,426,000 *4. 5% 1,865
-HAEEE 41,426,000 +3.545% 1,469
-NE88= 41,426,000 *1.75% 725
“MEE = 41,426,000 2. 15% 891
“LOAIIRAYEEE
41,426,000 +3. 545%+12.81% 189
-SXEOE 300,000 *2H 600
-SeddZ 8l 450,000& x2H 900
-dE80= 300,000 x22H+23] 1,200
O2Es Xg=Z 22l JIZHH 22XHEs 73,8%
-QIAHI(= 8Xt §F X&)
86,3033 32 2402 62,139
=0 EE= 62,139,000 4. 5% 2,797
-HYEBE= 62,139,000 +3.545% 2,203
-NESEE 62,139,000 *1.75% 1,088
“MHEEE 62,139,000 2. 15% 1,336
- BEE
62,139,000 *3. 545%+12.81% 283
-SXZEQE 300,000& +3& 900
S F 8] 450,000 *3H 1,350
-HEA0U= 300,000& x3EH*22] 1,800
OB Z JIZ2HH 22X M SFH| 7,200
201 L2 55,542 50,738 4,804
01 At22te|bl 22,970 21,440 1,530
O==dHl, S+ ZJHIXt
500, 000& »402] 20,000
OMEE, TRI& 2IMPA FE==I|
40,0003 x 122 »40H 1,920
OZRI4H 2L g EXNAES
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O=8Xe AsiEEZ
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OFSPIEei=] 95,0002~ 12 1,140
O3 200,000 * 122 2,400
03 A2 20,000 20,000 0
O3 =4 =3U0 S 20,000
203 =] 900 900
EESSEEESI 900 900
OXOIMEN 22| Y22
1,000,000 *90% 900
206 MH=H| 50,000 50,000
01 MZH| 50,000 50,000
OMEHA, XIs=Z 2elXl & =357 40,000
—= A0 22l KERY 15,000,000 * 14 15,000
-HEE =3 ¥ SAHFY
25,000,000 * 14| 25,000
O2d¥ =d 2878 S 10,000
307 el2tol & 500 500
06 28= 500 500
OMEIR S &olitha MYBE THRS3
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401 AIEHIZ SR THYI 390,000 510,000 120,000
01 Al&HI 390,000 510,000 A120,000
O2ss NF=Zd ==X ZgAY 80,000
O28d x4 170,000
OdEHA, XFr=d sAU T2 100,000
OHMHE, Xe=Z U &8 S =S5 20,000
OUEHA, XIF=Z W 243 0A 20,000
405 KHakE SH 24,000 2,000 22,000
01 AL =S F=H| 24,000 2,000 22,000
OJEHd S =AU 2el&dl 2 24,000
-SEAEEI & oF 2,000
&4 S5HUF 15,000
-Sd4 53 1,000
-SE2EH| 6,000
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= 44,001
Al 30,801
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= 44,001
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SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 44,001
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= 627,000
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Al 565,408
T 890,682
MEHES ALY 38,100 44,500 26,400
201 er23| 37,100 43,500 26,400
01 At2teltl 9,100 13,100 24,000
(OF g=1== EONIE=1: [ DADA B et 3,000
-2t S 100, 0002 304 3,000
OLHE A SEXHH 3,000
=t 100,000 *300H 2 3,000
O=2 EXAEZ 500,000 *47H 2 2,000
OLAINFH SN SR E 0?32 BA+g
100,000& 5 *13] 500
OLIALERF XS ot EH BEIL =¢
150,000 28 »23] 600
2 35244l 28,000 30,400 2,400
Odtd2te] JIAHEYl =&7 Xl 3,000
ORI 2elt(282 Z§)
4,600,000 1CH 4,600
Odtglzte] HOAE 22es 20,400
-HIIR3 100,000& x 170 2+ 1200 20,400
307 glztol & 1,000 1,000
06 2= 1,000 1,000
O=Z &olitle HEEE IR
100,000& %102 1,000
=8, 28 M A 9,360 9,360 0
206 M=l 7,200 7,200
01 M=4l 7,200 7,200
OZEAl AtZ=2te] A2 7,200
-Hl= 8,000 »200% 1,600
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-=3i0t S 800
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OAlSE A S| 8,000 +270H 2,160
MO 66,824 148,616 A\81,792
= 33,412
Al 10,023
- 23,389
401 AIEHIX R0 66,824 148,616 AB1,792
= 33,412
Al 10,023
- 23,389
01 Al&H| 66,824 148,616 N81,792
Ott24=&(10na) 27,120
= 13,560
Al 4,068
- 9,492
OZEXIIHII(1ha) 1,734
= 867
Al 260
- 607
O&HE 0l It (10ha) 87,970
= 18,985
Al 5,695
- 13,290
OIMIHAINZ =] 189,840 813,600 623,760
= 94,920
Al 28,476
- 66,444
401 AlEHIZL SO 189,840 813,600 A623,760
= 94,920
Al 28,476
- 66,444
01 AlZ8| 189,840 813,600 A\623,760
OOINIgX M& S4=IH70((70ha) 189,840
= 94,920
Al 28,476
- 66,444
OIMSHA M& X8 12,050 22,000 A9,950
= 6.025
Al 1,807
- 4,218
401 Al HIZ S 0HbI 12,050 22,000 29,950




SN BR=XD
3 IS dHE ASTHol ol & MEAAY 235
=2l TAlE &E & 22 (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 6,025
Al 1,807
- 4,218
01 Al 12,050 22,000 29,950
O2LF s9xE 12,050
= 6.025
Al 1,807
- 4,218
SLT L (HEAIY) 320,000 320,000 0
Al 272,000
- 48,000
401 AIEHIZ R 0HYI 320,000 320,000 0
Al 272,000
T 48,000
01 Al&H| 320,000 320,000 0
O=Z &t 32,000,000 *10km 320,000
Al 272,000
- 48,000
=2 BoAI4 EHI 90,000 110,000 A20,000
401 Al HIZ S 0HbI 90,000 110,000 /20,000
01 AlZ2H| 90,000 110,000 /20,000
O=Z H2AEZ= EHI 90,000
=Z EH| 2 122,980 190,238 N67,258
101 e124d| 122,980 190,238 A67,258
M ORINZZ2NSE S 122,980 190,238 N67,258
O=2'Fdl2el(58) 122,980
-QIRU(FR, Xt FRES)
86,3033 x5 230 99,249
-FaRg 86,3032 x5 » 14 6,042
-UEEE 106,790,000 *1.75% 1,869
~SHEE 106,790,000 *1.023% 1,093
-=2H3 106,790,000 *4. 5% 4,806
A k= 106,790,000 *3.545% 3,786
“LRI I RYEE 3,785,710 %12.81% 485
-EEY0S, SXREUE
300,000 x5 +23] 3,000
-IsHI(225, 2238
310,000 6% 1,550
-SaULBTHI(BIXIE)
56,0002 5% 280
-SALBAH(S+=ZA)
164,000 54 820
ST AL (AIA) 894,286 894,286 0
= 626,000
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Al 89,429
T 178,857

401 AlEHIZL S0 894,286 894,286 0
= 626,000
Al 89,429
- 178,857

01 Al&H| 894,286 894,286 0
OYE A& (4.0km) 894,286
= 626,000
Al 89,429
- 178,857

AT AIE (B4 (X&) 1,429 1,429 0
= 1,000
Al 143
- 286

201 fer=3| 1,429 1,429 0
[ 1,000
Al 143
- 286

01 AtR2t2|HI 1,429 1,429 0
OogzgIRAE =& 1,429
[ 1,000
Al 143
- 286

P PRIHNB(HEAIY) 132,000 132,000 0
Al 100,320
- 31,680

401 Al HIZ R OHHI 132,000 132,000 0
Al 100,320
- 31,680

01 Al&H| 132,000 132,000 0
Ogx #X2oHE 132,000
Al 100,320
T 31,680

AP THOH 2 X2l (AFAFEH Ol 2 XI 2 E) 61,140 59,883 1,257
= 24,456
Al 11,005
T 25,679
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Al 11,005
- 25,679

M ORNZZ2NSE S 61,140 59,883 1,257
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OLHAER S Z 0l 2 EH(4E) 61,140
= 24,456
Al 11,005
- 25,679
HFEH 191,628 193,757 A2,129
= 134,140
Al 40,242
- 17,246
401 A2 HIZL 201 191,628 193,757 A2,129
= 134,140
Al 40,242
- 17,246
01 A28l 191,628 193,757 A2,129
OHFEH 191,628,000 * Tkm 191,628
= 134,140
Al 40,242
- 17,246
AEAIE 22EZ 2,640 1,980 660
= 1,848
Al 553
- 239
401 AIZHIX S0HH 2,640 1,980 660
= 1,848
Al 553
- 239
01 Al&H| 2,640 1,980 660
OAIZAIE 228 S 220,000 * 1294 2 2,640
= 1,848
Al 553
- 239
AZAIE HEEH 2,715 5,432 N2, 717
= 1,901
Al 570
o o4
401 AlEHIZL SO 2,715 5,432 N2, 717
= 1,901
Al 570
| 244
01 Al 2,715 5,432 ~2,717
OAZAIE B
2,715,000& 10 2 2,715
= 1,901
Al 570
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| = 244
APALEY &A1 XS AEH R AL 5,600 4,200 1,400
= 2,800
Al 840
- 1,960
401 AIEHIZ 28I 5,600 4,200 1,400
= 2,800
Al 840
- 1,960
01 Al&Hl 5,600 4,200 1,400
OX/EALEY &8 24X AEH AL
700,000 87 A 5,600
= 2,800
Al 840
- 1,960
atg kel 32,000 40,000 28,000
206 M= 4l 15,000 15,000 0
01 =l 15,000 15,000 0
OstgAld & ==2te| At 15,000
401 Al&HIZ 20| 17,000 25,000 A8,000
01 Al&HI 17,000 25,000 A8,000
O, THOH Kl 2 AFS 15,000
(OF=10 BN 2,000
A THOH <Xl Hb| 100,000 100,000
401 AIEHIZL 2018 100,000 100,000
01 Al&Hl 100,000 100,000
O4r ol F2fXl &I 100,000
L =2 FHIAIY 100,000 0 100,000
401 Al&HIZ 20| 100,000 0 100,000
01 AlEHI 100,000 0 100,000
O3&A =2 ZHIAZ 100,000
& OIS = ME™ 24 600,000 0 600,000
CH 600,000
401 A& B2 20| 600,000 0 600,000
CH 600,000
01 Al&Hl 600,000 0 600,000
O JI=E = MEH =4 600,000
CH 600,000
MBI AL 1,708,908 1,859, 166 A150,258
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Al 108,375
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= 69,546
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- 14,691
401 Al HIZL S 0HYI 88,979 133,660 A44,681
= 69,546
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- 14,691
01 AlZ28| 88,979 133,660 N44,681
OLIH DA AFEHEIA (1402) 13,791
= 9,6%4
Al 1,241
- 2,8%
Ol A= AFEHI(1002) 10,848
= 7,594
Al 976
- 2,278
O LIS AH20ha) 57,060
= 47,202
Al 1,870
- 7,988
OESH2Z=E(1302) 7,280
= 5.09%
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- 1,529
2oHENE LAl 43,855 47,100 A3,245
= 30,200
Al 3,947
- 9,708
401 AlZHIZ 2018 43,855 47,100 A3,245
= 30,200
Al 3,947
T 9,708
01 Al&HI 43,855 47,100 A3,245
O£ ZE 2R L= Ab(20ha) 43,855
= 30,200
Al 3,947
- 9,708
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